Cecilio Dimas -- 7th & 8th Grade -—— Comparing Linear Functions --

Video transcript: Problem 2 - Part A

CECILIO DIMAS: I'm gonna ask that we go ahead and flip to the next table, which will be on blue paper. So | would like for you to take
a look at this table and ask yourself, does this make mathematical sense? Why, or why not? Does this table make mathematical
sense ? Why or why not.

Okay, you can take a moment now, and talk to your shoulder partner. If you're a black card, I'd like for you to share first.

STUDENT: 12, so yeah, okay. This one’s wrong, and | think

STUDENT: and the rest make sense.

STUDENT: ...this one’s wrong, but these two make sense. So then, does that make sense? Because 18, 18, 18, 18, 18. And this one
makes sense, because it says 3 dollars per month, so then there’d be 3,6,9,12,15,18, 21, 24. Then, the Online Flix is wrong, because
it's supposed to be

STUDENT: 12,

STUDENT: Yeah, it's supposed to be 12, plus 1 for 1 rental. So 12, 13, 14, 15, 16.

STUDENT: And then right here, it says, 12, 25, 38.

CECILIO DIMAS: Boys and girls, I'm hearing some very interesting ideas, so I'd like for you to go ahead and share out. Does it make
mathematical sense? Why or why not? Okay? Let’s start with Kyle.

STUDENT: | think it does make mathematical sense, because with 12, if you add 13 to that, it's 25, and if you add 14 to 25, it's 38, and
38 plus 15 is 51, and so on.

CECILIO DIMAS: Okay. Would someone like to add to what Kyle has stated? Or make a different statement? Does this make
mathematical sense? Um, Debra?

STUDENT: It does, well, it does make mathematical sense, but it doesn't follow the plan.

CECILIO DIMAS: Okay. So could you tell me which one does make mathematical sense and does follow the plan, and which one or
ones don't follow?

STUDENT: Movie Busters and Mail Flix follow the plan, and Online Flix doesn't.

CECILIO DIMAS: Okay. Would you like to add to that, Victoria?

STUDENT: Um, actually, there’s a problem with it, ‘cause it says number of movies, zero? And it says Online Flix and Mail Flix, 18 and
12. But you're really, not paying for anything right now, so why should you pay that much now without, without any movies right now?
CECILIO DIMAS: Okay, so you bring up an interesting point, Victoria, this idea of 0. So, we’ll move on to that in just a moment.
Melanie, you had a comment about the previous question? Or about 0?

STUDENT: About the 0.

CECILIO DIMAS: Okay, do you want to talk about 0, then?

STUDENT: Yeah. | think that it does make sense because the 12, the Online Flix you have to pay 12 per month and so that would be,
you would haven't rent no movies, but you still have to pay for the month on each one.

CECILIO DIMAS: Okay, so if we rented 0 movies from Online Flix, you're saying we would still have to pay the $12?

STUDENT: Yeah.

CECILIO DIMAS: Okay, even though | don’t have anything?

STUDENT: Yeah.

CECILIO DIMAS: Okay. Jocelyn?

STUDENT: Um, it doesn’t really make sense, because like Movie Busters, see how all the way down it adds 3?

CECILIO DIMAS: Uh huh?

STUDENT: Well, on Online Flix, when we were having our partner talking, we were looking at the 0, how it added 3 and how 18 added
nothing, it stayed? Well, 12 plus 12 isn’t 25? And so on.

CECILIO DIMAS: Okay. Someone want to add to this conversation? Hailey?

STUDENT: Well, like, for Online Flix, for each movie, like 13 and 14 and so on and so on, like Online Flix, it says, uh, those, like other
numbers? but if you take 13 and add it to 12, you get 25? And then from 25, if you add, like 13 more, don’t you get 38?

CECILIO DIMAS: Yes.

STUDENT: And it keeps going.
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CECILIO DIMAS: So then we’re adding by what, here, Hailey?

STUDENT: 13.

CECILIO DIMAS: Okay. Danielle?STUDENT: 12 plus 12 equals 24, but if you buy one movie, it equals 25.

CECILIO DIMAS: Okay. So the two flat fees of $12 plus the 1 makes the 25?

STUDENT: Yes.

CECILIO DIMAS: Okay. Um. So is there-- would anyone else like to share about whether or not it makes mathematical sense?
Jessica? STUDENT: | think it does make mathematical sense because they all match the plan.

CECILIO DIMAS: Amir?

STUDENT: | think it does make mathematical sense, but | think there’s something that | don't see really correctly. So 12 plus 12
equals 24. But why are we adding $1 to it?

CECILIO DIMAS: Could someone answer Amir's question? Lisa?

STUDENT: Because you pay $1 per movie.

CECILIO DIMAS: Okay.
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